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6. The interval of convergence of the series Z (=1) (x = T7)" is:
n=1

(a) 6,8 (b) (6,8] (¢c) z=5 (d) (6,8) (e) diverges  (f)

(_1= 1)
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3. Find the interval of convergence of

= (3x-2)’
Z Fi
=1 3 ﬂ,\/E

D) [2.1] e) (£.1] ARERY
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6. Find the interval of convergence of the power series § 5

n=1

n

(4) (-L1) B)[-L1.1] (©) [L.5) M)[-5.51 ®)[-5.3) @3] (G)[0.1] (H){0}
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16. The series Z u27’“_1:3"]"' is convergent precisely for the following values of a:

= n
(a) 3 <a2<i (b)0<ar<4 (Jre{-22} (d 2<2<2 (u=n (fla<b
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12. Find the interval of convergence of the power series

(1)
Zo 27n

="

(A) [=1,3] (B) [-1,3) (€) (=1,3]
(E) [1/2,3/2] (F) [1/2,3/2) (G) (1/2,3/2]

(H) (1/2,3/2)
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ANSWERS:

Fall2012#6: B

Spring 2012 #3: D

Fall 2011 #6: F

Spring 2011 # 16: A

Fall 2010 # 12: B




